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POWER GENERATION
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alt :
Note:

tTq { * *t qr qiqfl( set *d qfi t I
(a) t-tq
(b) €iqorliffi
(c) qnwqr
(d) wqrgwt

frH d + +{ qr al+q lttffi {4t tw IIFI

qfit r
(a) +{€1t'
(b) qITflt

(c) tGlliF
(d) tur+

qoffEnEtqiiTfurt
(a) +qnr*qrfilcd t

O) +t{nrduc1md I

(c) +Ttlr + qrtosuil d frrnk d t

(d) ftt{€r + qd q{q ffi Ertrdr d r

1u&oardo:30
Madmum Marks : 30

1. Which of the following is not a
conventional energy source ?

(a) Fuels

O) DieselPower
(c) Tidal'energy
(d) Nuclear energy

2. Which of the following is not a part

of thermalPowerPlant ?

(a) Penstock
(b) Boiler
(c) T[rbine
(d) ChiruteY

3. Rrlverized coal is the

(a) non-smoking coal

O) coalfreefromash
(c) coal broken into fine Particles
(d) coal whichburns forlongtime

(i) rrf rysrM*qrtdrnwt,rbw* r

Atl Questioti6 are conpulsory and each Etestion is of I rnark

(ii) qtdtq,wr,nil#or65p flffidofn# ar7arqfilza{ 1 '

Onty Ertglish version is valid in case of difference in both the languages'

1.

3.

(1)

2n8
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4. Erftqyrk*{r{ffir{ftqil Etdrt
(a) dw(+qrd
O) dwrsilrtr*'+q
(c) qftr*+qwm
(d) Brnfr{turtwr

5. fuT + t qo ftqq vtk rhh u qrrr

rdt,
(a) qiq

O) dqlT{
(c, qIEffi
(d) qtrqzfrt

6. Frq { + +{ + nrtq vk {ih { ucffiftfqir
(a) r,+qffir
(b) qrq+qfrfu
(c) qqiaftfrr
(d) sqtqilH$

7. ffiT frt rrd w+ +r+r{#t r

(a) qrg

(b) qwr lrfr
(c) q"qid
(d) sqfrfrrrrft

W n-ffiIiiffi V€ t zCqrf{ W qr
€iilquqiETqfficq,nnt
(a) qFrquqi{
(b) Emruqi{
(c) HFfrq uqt {
(d) Ta*quut{

w vis v-fi iqg( vnm gq* E gqFT

ftnq't---' tiiFii gr-I.fiT ?$ilIFI +fq qf t f
(a) frrtzteIf{
O) stfrr€zlrilFr
(c) +qHzrqrFr
(d) frtccureur

8.

9.

a) 21lt
In thermal power plant, turhine is'
placed
(a) beforeboiler
(b) in betrueen boiler and generator
(c) after generator
(d) None of the above

The fotlowing is not a component of
hydro elecnic powerplant :

(a) Dam

O) Condenser
(c) Draft tube
(4) Surge tank

Which of the following is the ash
haodling system in thermal power
plane ?

(a) Hydraulic system
(b) Pneumatic system
(c) Steamjet system
(d) All of the above

Economiser is used to heat
(a) Air
O) Feedwater
(c) Flue gases
(d) AII above

Ttrbine in hydro electric power plant
converts thepotential energy of water
into
(a) Kinetic ene[gy

O) Heatenergy
(c) Thermal energy
(d) Gravitational energy

\Vhich of the following is an impulse
tubine, used in high head hydro
electric powerplants ?
(a) Pelton turbine
(b) Francis turbine
(c) IGplan turhine
(d) Propellerurbine

7.

9.

l'
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to. t{q { t fu€ rrrFT tlr qe frqf Yt,effi

g{r{rgeqtT6 ?

(a) wqgrqim
O) qiHT

(c) ERrt's
(d) rrqifircI

11. u23s 6sdo,frdw{ FTE{{,qr{*fr
g}qEff;{*frt,
(a) l Bir
(b) l%gf{
(c) 2*ilq
(d) 2Y$t

12. qrfrqt ffiEm qrt qlffr6,+ En+
qtftftr{ffidqmrt, qr+qrtrt
(a) ktis{
O) {ilq{
(c) fqqlq{
(d) nr.arF{fttqr

13. tTq { t qilr qr q(qloJ ftqFtf + fu
vrqfuotmtr
(a) 1J235

(b) U23E

(c) hr235

(d) hr23e

14. tTq { t frtt t qrlrJ fiqe{ { wr
ffir qlq{d6qfitt
(a) +{{fdffiftKfrr
O) irrfit{E{ffilfl-+.fttg{
(c) qtuEfuqaft$et
(d) sffi+Erfiqrffffqrt

15. *a rw,ftwt{' {ffiIr+T { +fr t
(a)

o)
(c)

(d)

ffi*roncr{qo,'
imre
qrfrqffi

{E€r+r{qfidit r

!

(3) 2l1:t

At which of the following Places, a

hydro electic Power Plant is not

located ?

(a) Bhakra Nangal

O) Kolma
(c) Ilirakud
(d) Rawatbhata

Each fission of g23s Produces
following ntrmber of fast neutrons :

(a) 1 netrtrons

O) 1/z neutroos
(c) 2neutrons
(d) 2%neuffons

12. The process bY which a heavy

nucleus is sPlitted into two light
nuclei is knoum as

(a) fission
(b) tusion
(c) sPlitting
(d) chain reaction

Which of the following is the primary

fuel for nuclear reactors ?

(a) U23s

(b) lJ23t

(c) 523s
(d) P\i23e

Which of the following nuclear

reactor does not need a heat

exchanger ?
(a) Gas cooled roactor
(b) Liquidmetalcoo-ledreactor
(c) Presurised water reactor

(d) Boilingwaterreactior

15. In fast brcedcr teactors moderator

used is
(a) aoy tlpe of moderator :

O) graPhite
(c) beavy water
(d) Moderatorisnotused.

10.

11.

13.

t4.

P.T.O.
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16. uH tfr*qre terrfue rrtfr ftt *flrT
uFm qftrfrdqETfii

(a, iiFiiq qltFf llqit EF'I

(b) wrrqqvrmd,fiol
(c) +wYrFm{tdftt
(d) wqruJ yrk {tr q+

17. frET { + stt fi +iit vk {fr qr
rtrrrq qip+tqfit r
(a) vft{ milh
(b) qa {{r
(c) q$wri
(d) wqn*h

18. frrr.{+q}a qr*r€tfi fi qFT qff t r
(a) tr{
(b) tHil
(c) qlffit
(d) t*n qq

19. ie zrqr${ qPfr {4r *t qqilr qqr+ +
fr{qilffir rqn i qtn e
(a) qrcrftrq
(b) f{+wt
(c) ${:rrq
1oy sr$mmft

zo. l frrq { + slr rrr 6eFT qor w. tu
erqrsr oroq Ff, i z

(a) qrg fr) qqtsd rt d qEft t r

(b) e6q pft qr+ qrcft urg Et E H+ +t
€flIqvtrr-ff{fit r

(c) af< qm' ts rqrf{ +t qarr {
srfrr+ ykffi qo d €[Iq{TfdT
atfrt r

(d) qfr {*rs vf*r wrqq * ftq irq* ts aqreT * wqr { qR
qftm'udrt 

r

(4) 2118

Capital cost per kilowatt power
installed is maximum for the
(a) thermal power plant r

(b) hydro powerplant
(c) diesel power plant
(d) nuclearpowerplant

Which of the following is not the
general application of diesel power
plant ?

(a) Peak toad plant
(b) Mobile plant
(c) Stand-by unit
(d) Base load plant

Which of the following is not a
comllonent of diesel engine ?

(a) Engine
(b) Radiator
(c) Boiler
(d) Fuelpump

Method used to improve efficiency of
gas nrbine power plant is
(a) intercooling

O) regeneration
(c) reheating
(d) all of the above

Which of the following statement is
tme for open.cycle gas turbine ?
(a) Air is directly taken from

atrnosphere.

O) No need of filration of the
inssming air.

(c) More cooling water is required
in comparison t0 closed cycle
gas urrbine.

(d) For per unit power developed' weight is more in comparisotr to
eloeed cycle gas turbine,

16.

17.

18.

!19.

20.

\
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ir. qh,3,ri-rqipat :

(a, 6IfQA iIR EiE qFFFFFTTIFTTFI

(b) qftffinqqir sf{d'dfur rm?il

(c) dqamsilc{dHcsTmrn
(d) SdPtr rm sil{ lnftffidrqqhrsr

22r. fu{ft Yrk vqrq ih + fuq 30 lvt\lv
stw qE dtr so lvfw .qftffi qi'T *+
q{ qRrJuri6'[Hr

(a) 0.4

o) 0.6

(c) I
(d) 1.6

23. t{q { * sh qr dffiq uet *d
qfftr
(a) ftwt
(b) qfiEtrt
(c) tgsflqlgmt

(o) Elqrq i$T scn

u. tr{mroet w4 ftuqi d qnHfrrfr

qrqr E

(a) fruqt{
O) StfrWuqt{
(c) il+quqtd
(d) qqrqPm'wt+

zs. rkt'm6{qr1q{fri,ffi GO Hrn+t

(a) {qru6mw+qqri+idq
O) rislffi t argdsa ot frfln { s1

rrrtoq.Fd+fr{q
(c) rttftk.{srffins{++fuq
(d) EsilffiBft

(o zttB

Demand factor is the ratio of
(a) average load and maximum

demand.

(b) maximum demand and
connected load.

(c) averzlge load and connected
load.

(d) connected load and maximum
demand.

The load factor of a power supply
system with an average load of
30 MW and maximum demand of
50 MW will be
(a) 0.4
(b) 0.6
(c) 1

(d) 1.6

Which of the following is not a
renewable energy source ?

(a) Solarenergy
(b) Wind energy
(c) Nuclear energy
(d) Geothermal energy

The function of a solar collector is to
convert solar eoergy into
(a) mechanical enorgy
(b) electricalenergydirecfly
(c) thtrmal energy
(d) chcmical energy

In a solar collector, the transparent
cover is provided
(a) to prot@t the collector from

dust.

(b) to reduce the heat losses in the
direction from collector to
atmosphere.

to transmit sohr radiation.
All of the above.

21.

(c)
(d)

P.T.O.

22.

23.

25.
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'a, i

26. rilrFrrflidsrqr{t
(a) 1.353 ffiqrefrq,t+(
O) 1.853frr(fuiefrqttftrr
(c) m53frreilqrefrq,t+a
(d) 2.8s3Hqreffiq{*€T i

27. firtq { + fiE'S dfrrq qrr dk uqtq(
qr{qrftErfuqrwrtr
(a) rrqruJ ftqfirtst

O) qaq{ft{Ttt

(c) dr{qnrsiEr}
(d) +(ffirnq{6i

28. q{+frnr+rr+drt
(a) qoreruqmt{

(b) tlIIq;rcrqrq+n

(c) qlg16ltrqlq+{

(d) wr+-qfrtfrtqlftilqrq+{

29. tnrr uqt $qqq d tm { * qin lrr
trlFT qrr wr r
(a) EMt sr qqt+6{-qftq *c t r

(b) arg unfr irrqEr tfuq{Fdfr qFil

d qrqv{crilrqfit r

(c) q{+qffit Ern {k r1qur qff tdr
tr

(d) qrq rrk uflrrsT qrt t tr qr
. frtfu.nmrt I

30. ftq{ t qhqr+{wtcr rnrd'r g 7

(a) dkfimqt
(b) {fr1at
(c) rhqlddFaro.Sil
(d) sq+ffiqrft

(o 2ttt
The value of solar constant is

(a) 1.353 kilowatt per sq. metre

(b) 1.853 kilowatt per sq. metre

(c) 2.353 kilowatt per sq. m€tre

(d) 2,853 kilowatt per sq. metre

\Vhich of the following are classified
as Hotizonal axis and vertical axis ?

(a) Mrclear r-eactor$

O) Wind machines

(c) Solar collectors

(d) Solargreenhouses

Anemmeter is used to

(a) measure flow of water

(b) measurc density of air

(c) measurc velocity of air .

(d) measurepowerofwindmill

Which of the following statenent is
not true about wind energy ?

(a) The renewable source of
energy.

(b) I{o tquirement of cooling
r$atEr for the generation of wind

(c) hlo noise pollution by wind
mills.

(d) Wind power geoeration depends

on velocrty of air.

Which of the follotving is the
ap,plicadon of solar energy ?

(a) Solar green'hous e

O) Solar cooker

(c) Solrphoto volaic cell
(d) All of the above

26.

n.

28.

D.

t
,{
r
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tqftrffiTdo:70
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alt : $) ruqsw qWt lArd+ftnif dk#rrrdFrd t

Nfu : Question No, I is compulsory, answer aryfwe qwstions frum tlu reruaining.

$il' rdrr€ +wl# q,tl ql ffiqnqup?cr[i7 dfuq t
Solve all parts of a qustbn consecutively together.

(iii) Ydqnwftlz+?s*rner#e/q t '

Snrt erch qucstbn on afresh Page,

gi dqfqqwl#,rtnai'i#nryfrf -rfdqt qrppfrqrql 1

Onty En1lish version is valid ln case of difference in both tlw langwges.

1. (i) ilfrq Ytk {{'xit +tqimqfiEr qosnur F{r t ?

What is live stffage of coal in thermal power plant ?

(ii) uqttvrqrmilffr sgrqrtqiil*d*'qrqfrH I

Write the name of conventional and non-oonventional sqtrses of the enerry.

(iii) ro-fu uk *dr+ crr<rtoqr t t
What is the nash-rack in a hydroelectic poworplant ?

(iv)'tftttrgumrcr' atqqEnd I

Explaio "(3roen house effect".

(v) qqquet*'qqwqilE+ t

Gire the scope of wind cnergy. (2x5)

2. (i) i$tFf {tT.H gqr rfi'EIFT q€ ?['IFIq TF-Tfi qFI l[t EIH IET qiET E r iEiRiR E'

qqil{+ t

Wbat are the frcOrs to be considered while selecting sitc for Thermal Power

Plant ? Explain in detait

(ii) qfiErf'qo(qnsqddsrffi d frrsqsri I

Explain the working of multi r€tort stroker firing systop with a neat sketph. (6t6)

(7) P.r.o.

2l L8
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3. (i) flf{*qRq€{*.frfu{ smqq}dfu{otq6rw-t$Hrv+ |

Explain the various elements of a nuclear reactor with the help of a neat sketch.
(ii) ir${+qyrflffi1iqr++{rfrrrqatqqgs+frqg{Hemsqrqlft}rrqgi I .

. Explain the possible hazards in nuclear power plants and safety measures for it (6+6)

4. (i) ts aqrf{ {rir + qqv{offiqt Er qutr qt,Fr+ r daqlfrro'gq E{dfi fus rirm
{tr frt nr'flq wn frt T6-r+ { q6rq'u,'t r
Describe the essential components of a gas urhine plant How Intercooling and
regeneration are helpful in improving ttemal eftiency of the plant ?

(ii) tq ?KEr {rir} m Ffiu{ur qffffiq* E# sry+'r frrftri r

classify the gas nrbine plants and write their applications. (6+d)

s. (i) Sq-n{k{#Erfrqotrqifuq I

Describe diesel power plant with sketch.
(ii) B6kkq++{arrc*' q{ret+t urgq4,

Explain the eloments of cost of elecEic pow€r gencration. (6tr)

6. (i) ErrfiHqrqirr;Tqi'rf q,r+{druqt**erq qfrt r rqqru+ r

How is solar energy used in heating the building ? Explain.
(ii) ft Bilqt qrsm+tfqftF{ fqfuq} *qrq frlftr+ r ffi qs'fifu crkrrr*qdq #i r

Write the name of different menhods of solar ernrgy st@ge. Describe any one
(5{6)mcthod in detail.

7. (i) wT u.qi sr rnn { *qr qfrq t r wr d *,mq q uFrd w+ r

What is the futur'e of wind energy in India ? Give the meritc and deme.rits of
wind energy.

(ii) FFrqiT q*q wtqffit d srffi d mh * qETdT f,:sqsq{ l

Explain the working of avertical axis wiud mill with lrgu*Etrh. (6+6)

8. rrqqqffi anwagleqffi mrqq :

Write short notes on any three of the following :

(i) qREffi',

Load curve
(ii) qfttdqffi+art{
, hrlverisod coal burner

(iii) sftr+ qFT qrflr ftq'E{
Boiling water reactor

(ivt Hnuui{'ffFo.

(E)

Solar errcrgy collrctors, (4)O)


